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1.  Suppose you wish to purchase four puts on VTEL stock that expires 6 months from today with an exercise price of $4.50 per share.  VTEL stock is currently selling for $5.25 per share and you expect it to be selling for $3 per share 6 months form today and $2.50 per share 9 months from today.  You estimate that the standard deviation of returns on VTEL stock is 62%.  The return on Treasury strips (with continuous compounding) are as follows:  3-months = 5.36%, 6-months = 5.45%, 9-months = 5.49%.  What is the most you should be willing to pay for these puts?





2.  Assume that VTEL decides to implement an EVA type bonus system throughout the firm.  Assume also that VTEL has set a target EVA of $10 million for the fiscal year ended in 1999.  The target bonus for VTEL’s CEO in the 1999 is $125,000 with an EVA leverage factor of $8 million.  VTEL will use a bonus bank and the CEO will start with a bonus bank balance of $250,000.  Thirty percent of the beginning balance in the bonus bank will be paid out each year.  Forty percent of the current year’s bonus will be paid out each year with the remaining sixty percent being deposited into the bonus bank.  If VTEL’s actual EVA in fiscal year 1999 is -$1.5 million, what will be the actual EVA bonus payment made to VTEL’s CEO for 1999?





3.  Assume you believe that markets are basically efficient with the exception of the growth stock vs. value stocks.


a.  What is the growth stock vs. value stock violation of market efficiency?


b.  How would you construct a portfolio to take advantage of this violation of efficiency?


c.  What is the basic reason for this inefficiency?





4.  Assume that during a discussion with VTEL’s CFO, Rodney Bond, he states that VTEL bases all of its investment decisions on the project’s payback. What types of errors might VTEL have been making due to their basing their analysis of expansion opportunities on payback period?  What are the sources of these errors?





5.  Assume that VTEL is considering whether or not to build a new manufacturing and distribution center in Europe.  A month ago, VTEL spent $250,000 finding a suitable plant site.  The land on which the new facility could be built would cost $3.5 million (payable today if VTEL decides to proceed) and construction costs would be $9 million per month for 8 months (beginning today).  Cash inflows would begin 8 months from today and are estimated to be $250,000 per month in the first month and would be expected to grow by 1% per month through 4 years from today.  After that growth would stop and cash flows would remain stable through 15 years from today.  Should VTEL proceed if the required return on this facility is 18% per year?





6.  As VTEL’s growth eventually slows and its cash flows become more stable, what does our study of capital structure suggest should happen to VTEL’s optimal use of debt in its capital structure.  Justify your answer.





7.  Because of its rapid growth, VTEL currently pays no dividend.  Under what conditions should VTEL begin to consider paying a dividend.  Justify your answer.





8. Suppose that VTEL is thinking of building a third manufacturing facility in Asia.  In attempting to assess the required return on the Asian facility, VTEL has made the following estimates:





Asian Economic Growth	Probability	Return on Facility	Return on market


Outstanding	.35	45%	32%


Good	.40	18%	12%


Lousy	.25	-8%	-2%





If the return on T-bills is 4.77%, what is the required return on the Asian facility?
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Answers:  





Note:  Each problem is worth 50 points for 400 total.  Numbers inside brackets represent the number of point each part of the problem is worth for problems with calculations.  The number in brackets for essays represents “raw points”.  These raw points may be converted to points out of 50 using the scale for each question.





1.  s2 = (.62)2 = .3844


� EMBED Equation.2  ���


� EMBED Equation.2  ���


N(d1) = .73565; N(d2) = .57535


� EMBED Equation.2  ���


� EMBED Equation.2  ���


=> pay up to .47172 x 400 = 188.69





Points:  Equations:  d1, C0, and P0 [+7 each], d2 [+4]; Variables:  5.25, 4.50, .50, N(d1), N(d2) [+2 each]; .0545, .3844, [+5 each]; 400 [+3], final answer [+2]





2.  � EMBED Equation.2  ���


� EMBED Equation.2  ���


Points:  Equations [+12 each]; Variables:  -1.5, 10, 8 [+4 each]; 125,000, .4, .3, 250,000 [+3 each]; final answer [+2]





3.  	a.  Value stocks earn higher returns [2] with less risk than growth stocks [6]


b.  Include stocks with low market/book ratios, low P/E ratios, high dividend yields [8]


c.  Too much is expected from growth stocks [2] so that these stocks tend to get negative shocks when perceived growth does not pan out [2] causing prices to fall [2] and too little is expected of value stocks [2] so that these stocks tend to get postive shocks as do better than expected [2] causing stock price to rise [2].





Note:  much but  not all of the difference driven by a survivorship bias [2] in the results in that only those firms that survived were included in the data resulting in the returns of value stocks being overstated [2].





Scale (raw = points):  18=50, 16=47, 12=43, 10=40, 8=38, 6=36, 4=34, 2=30





4.  Error:  may have been making incorrect accept/reject decisions on projects [4]





Source:  project with shortest payback may not have the highest NPV [2] for several reasons:


1) ignores timing of cash flow within payback period [2]


2)  ignores cash flow after the payback period [2]


3)  ignores risk differences between projects [2]


4)  arbitrary criteria [2]





Scale (raw = points):  12=44, 10=38, 8=35, 6=33, 3=31, 2=29





�
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5.  � EMBED Equation.2  ���





Costs: � EMBED Equation.2  ���


Inflows:





G. Annuity:  � EMBED Equation.2  ���


Annuity:  CF4 = 250,000 (1.01)40 = 372,215.93


� EMBED Equation.2  ���


NPV = -52,046,988 => should not open facility since < 0.





Equations:  r, PV of annuity, FV of lump, PV of growing annuity, PV of lump, FV of lump, PV of annuity, PV of lump [+3 each]; variables:  .18, -9, 250,000, .01, .01 [+1 each], 1/12, 8 [+2 each], 41, 7, 40, 132, 4 [+3 each]; don't open [+1]





6.   More debt [4] for several reasons:


1)  Lower chance of bankruptcy [2] so lower expected bankruptcy costs [2] from the debt.


2)  Greater chance that able to use the corporate tax shields from the debt [4]


3)  Greater confidence in firm’s ability to survive [2] so can increase debt without potential for lost sales [1], higher credit costs [1], key employees leaving [1], suppliers cutting off credit purchases [1]


4)  Less chance of need to divert resources from productive uses to avoid bankruptcy [2] like management efforts [1] and forgone maintenance [1].


5)  Fewer restrictive covenants [2] etc. due to less conflict between stockholders and bondholders [2]


6)  Will help resolve increased conflict between managers and stockholders [2] since it will take the new higher discretionary cash out of management’s hands [2] and puts management’s back against the wall again [2].





Note:  the Pecking Order Theory suggusts that VTEL should use less debt as more internal funds become available [4]





Note:  if only mention financial distress without any detail then [4].





Scale (raw = points):  21=50, 14=45, 12=42, 11=40, 10=39, 9=37, 8=35, 4=30
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7.  When PETsMART’s growth begins to slow and it begins to generate excess cash [8] for several reasons:





1)  Because of higher taxes on dividends than capital gains [4], shouldn’t pay dividend until firm growth slows and begin to generate excess cash, but only if the tax loss from dividends is less than alternative uses of cash [2] like:


- repuchasing shares [2]


- investing in negative NPV projects [2]


- loss from acquiring other firms [2]


- purchasing financial securities [2]





2)  As generate more excess cash, less likely that firm will have to issue securities and come under the resulting scrutiny [4].  By increasing dividends, increase that chance again and thus reduce conflict between management and stockholders [4]





3)  As generate more excess cash, bondholders gain at expense of stockholders due to bonds becoming safer [4].  Payment of dividends restores the gain to stockholders [4].





Scale (raw = points):  16=48, 14=46, 10=40, 8=37, 5=32, 2=28





8.  � EMBED Equation.2  ���


� EMBED Equation.2  ���


� EMBED Equation.2  ���


� EMBED Equation.2  ���


� EMBED Equation.2  ���


r = 4.77 + 1.5257(15.5 - 4.77) = 21.14%





Points:  Equations [+5 each], variables:  prob [+8], rS [+6], rs&P [+6], 4.77 [+2]; final answer [+3] 








